HCK &% — RIFNKEREL

585 - BR - STHETE AR CHELIC.
C AER#EIEE
R
EE $T4 (mm) @25 232 240 @50 263
FAEL1TIZ mm 20 20 25 30 35
R EEHI
fERTRAE BEmER
fERRHEE kef / cm? (kPa) 1~7(100~700)
BRAFEREN kef / cm? (kPa) 9(900)
fERREEE € -10~60
A BH#EHH
[P M5x0.8 PT1/8 \ PT1/4
Wa%kE MiEa
HE- R i HCK 25-9D 2
1 2 ©
1| 8% FI1E (mm) 2 | MR eSS E 3| fRs® eSS
25 @25 fEhh i AU FERS 1 Ft 1 1@
32 @32 9D CS-9D 2 Ffs 2 1@
40 @40 9B CS-9B
50 @50 RE
63 263

% —
#R P8-2.10

¥R P8-29

6-13.30



HCK &%l — RIFVRREL

PEREHEE - SHHEE  EREHR oHELIC
AEpLEIE
©O— 5 @
O——— 1D
&—
® S=HES
A2 S
&O—_ \ 9
g | —®
o RRIE——
@ | \ ®
ﬁ_
BHHHE
e =8 wa p=n =8 we
01 EE REE 11 B E E £ Jasb i
02 SEE b= 12 HIZIR R
03 Wi b 13 HETER A I
04 BIE eSS 14 AR E E 1R R
05 C minm o 15 e P
06 0 Blig AR 16 BHAAER gl
07 B B 17 EEERR gl
08 (23 [asbioci] 18 YARBRE S, B + BERD
09 FEhEEH FrhisE 19 EERAR gl
10 E 2015 SIS 20 ®’= RE®
e Ak
ERES) keflem’
BIgE BiE et
1 2 3 4 5] 6 7
HCK 25 — 4 6 8.5 10.8 13 15.3
HCK 32 — 7 10.7 14.3 17.8 21.4 25
HCK 40 TEH (kef) 6.3 13.1 19.4 26.3 32.6 394 45.7
HCK 50 10.8 22.2 33.1 44.5 56 66.8 78.2
HCK 63 20.2 40.4 60.6 80.8 101 121.9 142.1

6-13.31

SCR(L)
Heeg
T

HER

ot}
FFFEL

HGR(L)
]
BT

HSR(L)
R

¥ TR E
(RRERE)

HBR(L)
ET

A TR

(HREFERETR)

HFR(L)
TE

A TR

(B FERER)

HFK
a1
TR

HCK
1120
TR

HLK
B R

HUR(L)
IR
TR

HUK
B
B BT

HN[]
£ fE
BRI

HS[]
s
A

HCF
SERET

HCS
L
ST

HCQ
A
JHEREL
(HRAERT)



HCK %51 — RiIEU kR 2 E]
SMBERR CHELIC.

HCK 25~ HCK 63

4
E
F
»
i A A 2
WA ]
1 [] IR\
r< e
N
I 1L ~
z o
! o b )
2-0 <
W) g
2} &l
B :mm
pre=
g A B C D E F N N, 0 R
HCK 25 51.2 78.2 25 — 50 45 12.5 8 M5x0.8P 82°
HCK 32 54 82.5 33 50 60 55 16 9 PT 1/8 73°
HCK 40 61.5 94 32 58 65 58 16 10 PT1/8 T7°
HCK 50 68.6 108 35 71 75 66 19 10.85 PT 1/4 80°
HCK 63 76.5 121.5 38.5 84.5 85 76 22 11 PT 1/4 72°
iy P ERAL) P, P, s T z
HCK 25 @71, 05.1, BOF M6x1.0Px8 3% ; K7L, 098.7x6 3% (MiEt ) 6 14 40 28 110
HCK 32 BFL @5.1, TF M6x1.0Px8 3F ; #1FL @8.7x6 iF ( MiZ) 6 14 44 34 123.8
HCK 40 iBFL 06.8, IRIF M8x1.25Px10 i ; #FL O10x8 7% ( Mg ) 8 18 52 40 134
HCK 50 171, 06.8, T5F M8x1.25Px10 38 ; 7., @11x8.5 & (i ) 8.5 185 62 48 153
HCK 63 @71, 06.8, B(HF M8x1.25Px10 & ; K7L, @11x8.5 3% ( i ) 8.5 185 75 60 171

6-13.32



HCK %% — BIHEIEI

RESREERERAEZ CHELIC.
RESRTEME

R FEE E C RFERZRTEHEEEHE
HESEENRAEL > EEERHMEN .

RRFERSEF > MBS IR ERBESEZ E R AR
EHE ; M RERARZEEEAE 0.5mm e
ERZBRE -

Eh{EEIE

EEREFUBEER > WMISHMAZET BEER) liM’EiEEI(F)l BEER)
EEXEHE > HEEFAMMAZRTHAR L sameos
ZBERE o (FBSETREE)

4 mm C RIFEZZRISE

e CS-9D(B) e 70

RATELE Bh{E4E (F) BUEE (R) EC)
CS-9B

025 o 10 fEREE : DC5~ 120V

(ZE2 7 1.0 AC 5 ~ 120V

@40 8 1.0

@50 9 12

263 10.5 12 fﬁﬁ

o —
Cs-9D
fEREBE : DC5~ 120V

AC 5~ 120V

6-13.33

SCR(L)
Heeg
T

HER

ot}
FFFEL

HGR(L)
]
BT

HSR(L)
R

H
¥ TR E
(RRERE)

HBR(L)
ET

A TR

(HREFERETR)

HFR(L)
TE

A TR

(B FERER)

HFK
a1
TR

HCK
1120
TR

HLK
B R

HUR(L)
S
A TR

HUK
B
B BT

HN[]
£ fE
BRI

HS[]
s
A

HCF
SERET

HCS
L
ST

HCQ
s
L

(B REAERER)



